
SET 
1V  

'

2V  1I  
'

2I  ϕI  

1 -- °∠ 0026.03.479  °−∠ 2.73166.0

 

0 °−∠ 2.73166.0  

2 -- °−∠ 14.23.474  °−∠ 85.543.2  °−∠ 14.237.2  °−∠ 3.74165.0  

3 -- °∠01  0 0 0 

4 -- °−∠ 4.447.0  °−∠ 4.447.0  °−∠ 4.447.0  0 

5 °∠ 9.2185.1  -- °−∠ 451  °−∠ 451  0 

6 -- °−∠ 27.2989.0  °−∠ 76.31  
°−∠ 27.2989.0  °−∠ 3.690283.0  

7 -- °−∠ 6.0983.0  °−∠ 9.46517.0

 

°−∠ 6.45491.0

 

°−∠ 3.690283.0  

8 -- °−∠ 87.31.115  
°−∠ 4.3329.18

 

°−∠ 87.365.15

 

°−∠ 3.9203.9  

9 °−∠ 1.25400  -- °−∠ 3720  °−∠ 3720  0 

10 -- °−∠ 83.02330  °−∠ 7.378.20  °−∠ 7.378.20  0 

11 -- °−∠ 1.47230  °−∠ 6.444.259

 

°−∠ 1.4723  °−∠ 4.444.236  

12 -- 0 °−∠ 1.75496  0 °−∠ 1.75496  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

 

 

 

 

 



 
 

 

 

 

 

 



 
 

 

 

 

 

 



 
 

 

 

 

 

 



 
 

 

 

 

 

 



Matlab Code for case 11 
clear all 

w = 377; 

R1 = .3; 

L1 = .003; 

Rf = 1; 

Lm = .0425; 

R2 = .2; 

L2 = .003; 

RL = 10; 

LL = 0; 

V1 = 440; 

 

Z1 = R1 + i * w * L1; 

Z2 = R2 + i * w * L2; 

ZL = RL + i * w * LL; 

Xm = i * w * Lm; 

Zf = Rf * Xm / (Rf + Xm); 

Z2L = Z2 + ZL; 

Z2Lf = Z2L * Zf / (Z2L + Zf); 

 

I1 = V1 / (Z1 + Z2Lf); 

I2 = (V1 - I1 * Z1) / Z2L; 

V2 = I2 * ZL; 

 

If = (V1 - I1 * Z1) / Rf; 

 

fprintf('I1 = %6.2f /_ %6.2f\n', abs(I1), angle(I1)*180/pi); 

fprintf('I2 = %6.2f /_ %6.2f\n', abs(I2), angle(I2)*180/pi); 

fprintf('V2 = %6.2f /_ %6.2f\n', abs(V2), angle(V2)*180/pi); 

fprintf('If = %6.2f /_ %6.2f\n', abs(If), angle(If)*180/pi); 

 

 

% Results: 

%------------------------ 

% I1 = 259.35 /_ -44.61 

% I2 = 22.99 /_ -47.13 

% V2 = 229.89 /_ -47.13 

% If = 235.93 /_ -40.80 


